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(3)

PART - I (9T - 1)
MENTAL ABILITY TEST

ifgd Nvar TeoT

Questions : 1 to 50

1.

Select the correct combination of
numbers so that letters arranged

accordingly will form a meaningful

word.

NSGREI

543210

(1) 025314 (2) 315402

3 504231 (4) 405312

In a certain code language,

DIAMOND is written as EMPLBHE.
How will ROUTINE be written in
that code language ?

(1) FMJSVNS (2) FOJUVPS
(3) FMJVSSN  (4) SNVSJMF

In certain code language GUIDE is
written as A@M*P] and MARCH is
written as @ + § V%.
DIAGRAM be written in same code

language ?

How will

(1) *P+V$+@
(2) ¥XM+$+/ @
3) *[ M+ A$+@

(4) *P+$+@V

NTSE(Level-1) Exam. Nov. — 2017

1.

bl B a€ WE HH AU D TP
Al B FARYT FH A TEH qdF IS
S ST |

NSGREI
54 3210
(1) 025314 (2) 315402
3 504231 (4) 405312

G Th HZ AT § DIAMOND
EMPLBHE fi@l sar 8, @ 39 e
qr § ROUTINE & fF8 U foman
e

(1) FMJSVNS
(3) FMJVSSN

2) FOJUVPS
(4) SNVSJMF

Uk 999 e AW H GUIDE &
ACMXY @ s 8 AR MARCH
F @+ $ V% @ S 2| FHT A
% DIAGRAM & fpE UHR foran
S ?

(1) *P+V$+@
(2) *¥d+$+A @
(3) * 4+ A$+@

(4) *W+$+@V

P.T.O.
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If MY = 16, SUN = 27 then HOTEL

will be equal to :
(1) 60 @) 75

3 77 4) 80

If 'water' is called 'air', 'air' is called
'tree', 'tree' is called 'sky', 'sky' is
called 'sea' and 'sea' is called 'fire',

where do aeroplanes fly ?
(1) water

(2) sky

(3) fire

(4) sea

How many '8's, are there followed by
an even number and preceded by an
odd number in the given number

sequence ?
584783285482986854878428645849
1 2 2 3

3) 4 4 5

J, K and L are educated; J, L and M
are hard-working; L, M and N are
employed; J, K, M and N are polite.
Who is educated, hard-working, polite

but not employed ?
1) J 2 K

3 L 4 N

NTSE(Level-1) Exam. Nov. — 2017

(4)

gfd MY = 16, SUN = 27 @ HOTEL

fpe SR B 7
(1) 60 @) 75

3 77 4) 80

Zlﬁ S Ehsf zan—ﬂy W%] (En—gr Eblr ‘ﬂ'&?’
Fed &, JEW B MR FEd T,
‘AFA F FE FEd & AR YR W
‘AT FEd &, A 9 Fel IS & 7
(1)
(2) TR
(3) &R
(4) 99=
& T ofF gEa § A '8 ofF oW @
e Ted a9 9e dfed 9% H 99
e 7 7

584783285482986854878428645849
1 2 @ 3

(3) 4 4 5

J, K @ L fifem ; J, L @1 M
gfeerdt & L, M @ N Fsdge g5 J,
K, M T N gire §| I Tl amsy
off ffe, oftesel qr gRmee € W
IR 2 |
1 J @ K

3 L 4 N
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8. If 'S' denote '+', 'D' denotes - , 'Q'
denotes '+ and 'P' denotes 'X', then

value of following equation is :
35Q7P585D6="2
(2) 24
(4) 28

1) 22
(3) 26

Direction : (Q. No. 9 and 10) select the

missing number from the given responses.

22 30 40 67 200 416

9.
2 3 ?

(1) 6 2 4

(3 5 4 7
10. 14 25 42

2 4 6

3 3 ?

4 7 9

1 7 2 6

(3 4 4 3
Direction : (Q. No. 11 and 12) some

equations are solved on the basis of a certain
system. On the same basis, find out the
correct answer,

from amongst the four

alternatives, for the unsolved equation.

11. If 9*7=32,11*5=96
then 179 =7
1) 160 @) 175
(3) 208 4) 280

NTSE(Level-1) Exam. Nov. — 2017

(5)

A

8. 'S FaoA B '+, D F A F
L ARy iR P w e
%' ql T T A FaEd |

35Q7P5S5D6="7

@) 24
(4) 28

1) 22
(3) 26

fAdsr : (999 do 9 T 10) Ry 7w AwEed 7
& G 7% FId FAT |

22 30 40 67 200 416

9.
2 3 ?

(1) 6 2 4

3 5 4 7
10. 14 25 42

2 4 6

3 3 2

4 7 9

1 7 2 6

(3) 4 4) 3
f@er : (97 Ho 11 T 12) % FHHET

fEdt [T garh & oere v &7 [T 7w &
3 STGIT T BT T [T TT THIET F FEl
STV [RT T FIT [T F 7 ST #or

g 9%7 = 32, 11%5 = 96
W17*9 =2
(1) 160
(3) 208

11.

(2) 175
(4) 280

P.T.O.
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12. 85x 14 =44, 68 x 28 = 64,

79 % 45 =72
(1) 72 (2) 83
(3) 96 (4) 124

Directions : Q. No. 13 and 14 are based on

the following data.

Vaibhav walks 2 km to east, turns right and
walks 1 km and then turns left and walks 4

km and again turning to his left travels 9

km.

13. In which direction is Vaibhav now

from his starting point ?
(1) North

(2) North-East

(3) West

(4) South-West

14. What is the shortest distance between

Vaibhav's starting point and the

present position ?
(1) 6km

(2) 8km

(3) 10 km

(4) 12 km

NTSE(Level-1) Exam. Nov. — 2017

(6)

12. 85 x 14 =44, 68 x 28 = 64,

79 x 45 =72
(1) 72 (2) 83
(3) 96 (4) 124

f@sr : 9sT "o 13 T 14 feferad gee
T SR 2 |

I9g qea feam & 2 fF. . T ®, e afw
TeHY 1 . . =@ & ol MY At geax
4 T W F@a@ & R R oW A o
At 9 . #. @ 2

13. O I99 9N oTRPsE wIH & fha faem
§g7?
(1) I
(2) SA-TE
(3) Uiv=m
(4) aferor-afe=m

999 & oMRNE WF SR aqqM Refd
% 9 A 30 R B

14.

(1) 6. =
(2) 8fk. .
(3) 10 f. #i.
(4) 12f®. .
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Direction : (Q. No. 15 and 16)

Take the given statements as true even if they

seem to be at wvariance from commonly

known facts and decide which of the
conclusions logically follows from the
statements.

15. Statements :
All flowers are fruits.
Some fruits are vegetables.
No vegetable is tree.
Conclusions :
I.  Some fruits are flowers.
II. Some trees are vegetables.
I11.
1)
2)
3
4

Some fruits are trees.

Only conclusion I follow.

Only conclusion IT follow.

Only conclusion I and II follows.

Only conclusion II and III follows.

16. Statement :
Adversity makes a man wise.
Conclusions :

I. The poor are wise.

II. Man learns from bitter
experience.
(1) If only conclusion I follow.

2)
3
4

NTSE(Level-1) Exam. Nov. — 2017

If only conclusion II follow.
If both I and II follows.

If neither I and nor II follows.

(7)

fader : (9991 Ho 15 U1 16)

Re 1@ Fy7f & G qET, @ d A
T 7@l § [ gedia &ad &, 98 9 o
% #eE @ 74 [y aw qrd &y d
freed &1

15. &97 :

i G & 2 |

B B dieTr g |

i ff gft I T 7

freay -

I %B % G 8|

II. B I3 qfswl & |

111 FB %A IS ¢ |

(1) Paq ey 1 feberar 21

(2) Fad repd 11 Seperar 21

(3) Faa By I ofR 11 febara 21
(4) Paa e 11 &) 111 b 2 |

16. g7 -

Nl F GREHAM T 2 |
frsy

I 9 A gReHH B g |

II. 99 %g A & dre ¢ |

(1) I& Fae F=py 1 fepean 2 |
(2) I Faa Frepd 11 fFepaar 21
(3) 3% I X II a1 Fepad 21
(4) 3T AT AT & I e £ |

P.T.O.
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17.

18.

'Some of the Football players are
Badminton players, some Badminton
Tennis players, no

players are

Football player is a Tennis player.'

Which of the following venn diagrams

correctly represents the above

statement ?

O
JOIED,

(D «aD

There are two dots placed in the
Question Figure. Find out the answer
figure which has the possibility of
placing the dots satisfying the same

conditions as in the Question figure ?

@&

2
&

Question Figure :

Answer Figures :

“®
&

(2)

(1)

(3) (4)

NTSE(Level-1) Exam. Nov. — 2017

(8)

17.

18.

Al gea Raae v Raarst 7@ 2 v

frefafed & @ $9-91 39-9mE SR
FIT H TE YT HEar B 7

O
HOCEAE'D,

& «amD

g ol A & g W@ Mg oE ) wa
MY fo Ue Al & @ ol ® qq
FRd g forgetl @ fhe ST oMl H
@ & qE ©

g7 TPl -

@&
-

o

FT HTBlaaT -

“®
&

(2)

(1)

(3) (4)
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(9) A
19. Select a suitable figure from the four 19. U U IR fGbedi H 9 I I ﬂﬁl‘l’

alternatives that would complete the & TI§ ﬁﬁzﬁq e qu Exd

given matrix.

@ [H | A @ [ | A
A\ D |[X A\ D
|, A 2 |, A 2

M [IA (@) SRIPAN @) @

oy
® Q| @ ﬁ O IQ| @ ﬁ

20. If a mirror is placed on the line X Y, 20. I fpEl U9 #r WM X Y W & ST,
then which of the answer figures is T A B OIW QTIEEI%P:?[ 9 pE-u
the correct image of the given M U I 1 F&7 ufafer= 2 ?
Question Figure ?

SO [T 1 I - N @ ey 5 @,

SE IN\E /IE I\ e

3 ol T

@ i @) @ B 7 @[
NTSE(Level-1) Exam. Nov. — 2017 P.T. O.
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21. Two positions of a dice are shown
below. When number 1 is on the top,

what number will be at the bottom ?

2 /1 /5
6 3

1 2 2 3

3) 5 4) 6

22. How many triangles are there in the

following figure ?

(1) 20 2 25

(3) 32 (4) 34

Direction : (Q. No. 23 to 27)
In the

relationship between the letters /numbers

following questions, there is a

/figures on the left of the sign (::). The same
relationship exists to the right of the sign (::),
of which one is missing. Find the missing
term from the given alternatives.
23. CEHL:PLIG:LNQU:?

(1) PYUR

@2 YUPR

B3) YURP

4) YPUR

NTSE(Level-1) Exam. Nov. — 2017

(10)

99w @ # oA Rufaar Ree R
99 YU FEH U G 1 @, a A
I ®a% U HI-AT 3 BN 7

21.

2 5

s 133 |4
1) 2 @ 3
3 5 4) 6

22. = & T A H fha Byt § 7

(1) 20 2 25

(3) 32 (4) 34

fa3sr : (957 Ho 23 § 27 T%)

frr godt 7 (z) @7 & i v @
SR TS T F F g 8
7& T (z) faET & afe o & frad @
0% 7 g7 &/ R gu w4 @ g9 97 9T
Fifrg |

23. CEHL:PLIG:LNQU:?
(1) PYUR
(2 YUPR
3) YURP

(4 YPUR
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24.

25.

26.

217.

FEAL:LEAF:EAKT:?

(1) KATE 2 TAKE
B) KETA 4 ETAK
63:9::7:14

(1) 43 2) 54

(3) 86 (4) 96
5:64::11:°?

(1) 121 2) 124

(3) 144 (4) 196

Direction : (Q. No. 28 to 32)

In the following questions, some letter clusters/

numbers/figures are given in a sequence. Find

the missing term to replace the question mark

from the given alternatives.

28. REOC, PGME, NIKG, ?

1) MJJI
@) LKII
3) LKJH
(4) KLIG

NTSE(Level-1) Exam. Nov. — 2017

(11)

24. FEAL:LEAF:EAKT:?
(1) KATE 2) TAKE
B3) KETA 4) ETAK
25. 63:9::?7:14
(1) 43 (2) 54
3) 86 (4) 96
26. 5:64::11:°?
(1) 121 2) 124
(3) 144 (4) 196
217.

(1) <2>
3 <4> ’

(9 Ho 28 | 32 TH)

fadsr -

77 g7t 7 ofErT THE A AT T
7 7 & Ry gu famed 7 @ 39 g7 7 A
&I BT ) 97 [987 % ®IIT G S |

28. REOC, PGME, NIKG, ?
1) MJJI
2 LKII
(3) LKJH
4 KLIG
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A (12)

29. BYCX, DWEV, FUGT, ? 29. BYCX, DWEV, FUGT, ?
(1) JSHR (1) JSHR
(2) HRJS (2) HRJS
(3) HSRJ (3 HSRJ
(4) HSIR (4 HSIR
30. 6,11, 26, 71, 206, ? 30. 6,11, 26, 71, 206, ?
(1) 244 (1) 244
(2) 496 (2) 496
(3) 611 (3) 611
(4) 632 (4) 632
31. 81,192, 375, 2, 1029 31. 81,192, 375, 2, 1029
(1) 686 (1) 686
(2) 648 (2) 648
(3) 484 (3) 484
(4) 468 (4) 468
2. NN @™ R 2. | NN ™ R
S A * S A *
1) A/\* 2 */\A Q) A/\* 2 */\A
S o S o S (0] S o
3 /\0 4) O/\S (3) */\o (4) o/\s
S * A A S * A

NTSE(Level-1) Exam. Nov. — 2017
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33. Arrange the following words in a

logical order.

1. Leaf 2. Fruit 3. Stem 4. Root
5. Flower

1)
2)
3
4)

4,1,3,5,2
4,3,1,2,5
4,3,1,5,2
4,5,1,3,2

34. Which one number is wrong in the

number series ?
13,17,19,23,27,29

(1) 29 ) 27

(3) 23 (4) 19

Direction : Q. No. 35 to 37 are based on

following information.

A group of friends is sitting in a square
facing the centre. They are sitting one each
at the corners and one each at the midpoints
of the sides of the square. Madhvi is sitting
diagonally opposite to Uma who is to Girija's
right. Rajesh is next to Girija and opposite
to Gyan who is on Vinod's left. Satish is not

on Madhvi's right but opposite to Priya.

35. Who is opposite to Vinod ?
(1) Girija
(2) Madhvi
(3) Priya
(4) Satish

NTSE(Level-1) Exam. Nov. — 2017

(13)

A

33. fefafaq o=@l & % THEd %A H
piepll

1. U 2. %l 3. O 4. 59 5. G

1)
)
3
4

4,1,3,5,2
4,3,1,2,5
4,3,1,5,2

4,5,1,3,2
34. HEm-ofge ¥ -G UH dE A
g7

13,17,19,23,27,29

(1) 29 2 27

3) 23

f7@er : usT Ho 35 § 37 Frefrad FEAl W
AR 2 |

el & ok o 9 0 & 6 N 9@ &
S W B UIE, I & Bl qAT IFH el
% Heg-fegall X o1 & | Wedl ) Refq o &
3% A faet w9 A B, S fiRem & afen
AX & B FRST @ o IS99 ¢ 6N &
e & S fadie & qE oY der B 1w &
Reffr Hredl & arfed 7 BT B & are 2 |

4) 19

35. foIg & A @9 do1 § ?
(1) T
(2) wreE!
(3) o
(4) @

P.T.O.
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36.

317.

38.

Who is between Gyan and Madhvi ?

(1) Rajesh

(2) Satish

(3) Vinod

(4) Priya

If Gyan and Rajesh interchange their

places, who will be to the left of Gyan ?

(1) Satish

(2) Priya

(3) Vinod

(4) Girija

Arrange the following words as per

order in the dictionary.

1. Dissident 2. Dissolve 3. Dissent

4. Dissolute 5. Dissolution

(1) 3,1,4,2,5

(2) 39]‘747592

(3) 39274759]‘

(4) 3,2,1,4,5

NTSE(Level-1) Exam. Nov. — 2017

(14)

36.

317.

38.

A X Heel & &/ i o1 § 7
1) Ta
(2) |
(3) o

(4) o=

A T SR T[EA AU WE e A
T o, T T & I AR HF 92T © ?
(1) |
() o
(3) fame
(4) TSt

frfafa o=l @ g=Ha § U w9 3
HTEN W |

1. Dissident 2. Dissolve 3. Dissent

4. Dissolute 5. Dissolution
(1) 3,1,4,2,5
(2) 3,1,4,5,2
3) 3,2,4,5,1

(4) 3,2,1,4,5

Downloaded from cclchapter.in



39. In a race Amar was running faster
than Bipin. Chetan could not run as
fast as Amar but ran faster than
Deepak. Bipin too could not run as
fast as Chetan but ran faster than
Deepak. Who will be the winner in

the race ?
(1) Deepak
(2) Chetan
(3) Bipin
(4) Amar
40. If Friday falls on 15th of September

2000, what will be the day on 15th of
September 2001 ?

(1) Thursday
(2) Friday
(3) Saturday

(4) Sunday
Directions : (Q. No. 41 to 43)

Select the one word-pair/number-pair/letter
cluster which is different from the other three
alternatives.
41. (1) Light: Heavy
(2) Kind : Cruel
(3) Soft : Hard

(4) Vacant : Empty

NTSE(Level-1) Exam. Nov. — 2017

(15)

A

39. % 3z H omy, faftm @ o1fts don @

A T AT AT IqT a9 T AT T
Rrer 7 orR 41 Wy 98 A% 4
arferes a9 drer | fafts o Sam aw1 7 A
R O =09 Q81 W a8 a9
T o 99 Tl 39 e ¥ A9 a%d
@ ?

(1) 9%

(2) =

(3) faios

(4) AHX

40. I 15 fTER 2000 F PHAR 2, @

15 fqa=w 2001 1 HI-41 & 2 ?

(1) gedicar

(2) PhIX
(3) qIFvER

(4) T9ER

fader : (997 Ho 41 ¥ 43 TH)

37 UF = GG HT-THE F
gT o o T w7 T 8

41.

(1) T : 9

(2) =41g - &Y
(3) BFA : FoIX
(4) R : @

P.T.O.
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42.

43.

44.

45.

(1) 18:48
(2) 30:80
(3) 40:110

(4) 48:134

(1) DIMPR
2
3

4

HMQTV
QVZBC

UZDGI

At present the father is older than the
son by 25 years. After 13 years the
father's age becomes double that of

the son. What is father's age now ?
(1) 26 years
(2) 37 years
(3) 38 years

(4) 50 years

In a row of boys, Vishal is seventh
from the left and Kamal is eleventh
from the right. When they exchange
their places, Vishal is thirteenth from
the left. What is the new position of
Kamal from the right ?

(1) 16th
(2) 17th
(3) 18th
(4) 19th

NTSE(Level-1) Exam. Nov. — 2017

(16)

42.

43.

44.

45.

(1) 18:48
(2) 30:80
(3) 40:110

(4) 48:134

(1) DIMPR
2
3

4

HMQTV
QVZBC

UZDGI

=H q9Y fUar & oy o T Hl oy
T 25 99 I 21 13 a¥ 9% U @

Y, G Y FH G & S |
% g Y ;e 7

(1) 2699
(2) 3779
(3) 38N
(4) 50 Y
TEH B TH Ul H G G oY |
gad Y W B SR wUd e oY 9
TRed HF W I d I AU I
oMUY ¥ §8d «, o AN B i 9f}

q Y qXEdl & ST | FHA BT A S
LI DI e i |

1)
2)
3
4

16t
17at
18at
19at
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46. In an examination some questions

carry 2 marks each and some others 4
marks each. A student scored 40
marks by attempting 15 questions
correct in all. How many questions
carrying 2 marks did he attempt

correctly ?
(1) 15
@) 12
(3) 8

(4) 10

Direction : Q. No. 47 to 49 are based on

following information.

P,Q,R,S, T and V are relatives. 'Q' is the son
of 'R' but 'R’ is not the mother of 'Q'. 'P' and
'R' is a married couple. "T" is the brother of
'R'. 'S' is the daughter of 'P', and V' is the
Aunt of 'Q'.

47. Who is the mother of 'Q' ?
(1) P (2) R

3) S 4 T

48. How is "T" related to 'Q'?
(1) Father

(2) Brother

(3) Son

(4) Uncle

NTSE(Level-1) Exam. Nov. — 2017

(17)

A

46. TF GG H B YK 2 Rl & q° FY
4 3 & I UH BF 7 15 U Hel &
FE 40 3F U< fHU| I@ BH T 2
il ar o ued @el e e g ?

1) 15

@ 12

3) 8

4) 10
fa@er : 9s do 47 ¥ 49 Frafafed gam W
A 2 |
PQRST X V ==l 1 'Q 9T & R
G R AT L Q WP AR T

foranfed Ser 21T 912 ® 'R’ #11'D' 991 7 P
#, A V' =R R Q' # |

47. Q B AT BT B ?
1) P @ R

3 S 4 T

T P QN T 7
(1) foea
(2) ¢
3 =

(4) =r=n

48.

P.T.O.
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49.

50.

Who is the wife of "T" ?
(1) R 2 VvV

(3) S 4 P

From the given alternative words,
select the word which cannot be
formed using the letters of the given

word :
COMMISSIONER
(1) COMMON
(2) MISSION
(3) MISSILE

(4) SIREN

(18)

49.

50.

T & Gl B § 7
1) R @ V
3) S 4) P

T T Jefcys g=i § 4 39 g &
T off U U 9= % SR BT

Fd 7] I ST G :

COMMISSIONER
(1) COMMON
(2) MISSION
(3) MISSILE

(4) SIREN

NTSE(Level-1) Exam. Nov. — 2017
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7z : M.OA.AN. M S S 1 % %A% 10 § AN H [qebhed a9g R |

PART - II (¥ - II)
LANGUAGE TEST

AT TUE0T

Questions : 51 to 100

fadsr : (Jo Ho 51 & 55 TH)

77 &7 T TEry @ qeRt ReEd & @ gid
8g @q Hel [y B TIT FHITT -

A AR ® ARG F@ H ARG T
AEps TEE B0 gu o uRERsE g€l @
(51) BT W@ & H AR ST
gET-HeE § i ud
THI-99E W el gie a6 a9 @ &
(53) BId @, [THd Teel ARl i
(54) TE| ST STEAMAl SHETT AN T
e wereey | g & el wSiEd

-------------- (55) I AT |

51. (1) 99~ (2) SoY
(3) gcdtdq (4) g

52. (1) gfaAd (2) FA
(3) STEEY™ (4) fga

53. (1) T @) o
(3) & (4) IEH

54. (1) 99 (2) &A1
(3) 3TcHEAT (4) B

NTSE(Level-1) Exam. Nov. — 2017

(fe=st «rem)

55.

(1) e (2) g@s

(3 g (4) AT

fadser : (9o Ho 56 ¥ 60 )
79 Ry T T @ yeET RET @7 @ gid

g @qH Hel [y B FIT FHITT -
ARSI LTS 11 —— (56) § AR FHLAT
|| LU | s o —— (57) AU e o

B B &9 N &ed &l YAl Bl WAl e |
Fed H A T B oS @ (59)
A SHR-ThE, fftd-criifed, aRR-emifd
TR Sfed @' iR a9 & AR B
1R GHR C A Rl e o] | EO| i —— (60) H
S AIC-UCT, [EOM U4 S dediedl &
Hew@yYl M el ¢ |

56. (1) gyl () Siget
(3) ST (4) =l
57. (1) 3 @) FR
(3) ufid (4) ST
58. (1) ®g (2) 7YY
(3) g (4) R

P.T.O.
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59. (1) Y3% (2) F3
(3) BB (4) 3THa
60. (1) 77 d (2) gmon &
(3) Sie ¥ (4) FFwER H

fA@%r : (Jo Ho 61 € 65 Th)

TE [RT 7T T F EHT GIE TE [AFA I
FIT FIT -

FAHR Fled-E Bl 81 T W HSI & hl
TTER el & S H, &R Al @
fqsTell &1 X gY-Yesih SRt AN Hl e
fmn ol 21 ofdo™ & garaH g &
TeTFT YT Bl AT & FABR FH ST 2 |
fRHl 1 B & A HIT UK 87 A =il
g O wweE AME & A 3EH  STed
g AFEE Fergyld sEed Sla-Uid &l e
SHY UH T yg U S § S AMa-HE 6
FE A 2 SR WEHE STl SHo-Ad B
b AT dl IHH FEl s TH e T |
Y AR % @O P B AHIT B G e
fafeq 2rar @ 5 o @O & N 39 w1 B
T § HEAT IS ¥, T SHIW 39 Hal @
Wedl & YUia: FHECT AT FeAl b WM & U
TEN ARG B I TR TN °1| SN
AR M R, T & U Far B STaIwRd
TN w9 @ WiHR H S 9 — T a% @
qife X Toiae daS & g9 S we @
WEY YU W@ Sl AT RN AR
2fCe B Aeblele W=l & J9-T 379
T § A Al U B el H ARdh
T B & OO T W@ 2

NTSE(Level-1) Exam. Nov. — 2017
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61.

62.

63.

64.

FAGR H acll H§ fhg yeR @ Ak
2§ 7

(1) Herg4fd Jhe & &l

(2) 9I-YEE B FHl

(3) Aied-ao H H

(4) TSl Tfd & A

TN R § el @l T e o ?
(1) AT H FIE A T8l oA
(2) 99 FHaAT 9 SHRT 9

(3) & %l He P qUEY A GHAT T
o

(4) FA PoIET g s &
FATHIT H1 SIS 1 & 7
(1) @RT & GIET & BT BT

(2) T & Ta4 & U SHHHg @
RESEEZSI

(3) dAdad & GexaH A H@
SATFT B

(4) O HEpI & GLET BT

PR ¥ 5 ger #omgRt w2 o
g ?

(1) 99T H

(2) HAT F USIH B Hl

(3) oI I

(4) 9Ha-HE & HAT Dl
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65. 9T & e A &F ar IRom e 3 7

(1) T & &

(2) T BN H

(3) el & T A &l

(4) TANET HI TE @ @
fA3@%r : (Yo Ho 66 & 70 TF)

TE RT T T # 9EHT qId TE [dFT F
FIT FAT -

Yepicr BN Hee femed H fasm H gd fmd
- Al aul & A I ANk §% gh ¢
oq 418 geAT STEWg @1 e § | P i @ &
FE AEEEN TE T el H®i BHR
et AR IFF MaEEal S€ M B
e S dl TR g1 0 BH A e % R e
AT AER THH © & a&gd: 98 e A
Ry 2, S AR e & §ea &l Y o o
@ 2| S H OB AN UE UE The I § %
fafe=T 2 & 99 @i A= g Td § T
SRl ST @ &, WRA & [t meel et
qaied & U, Y Ued, AW Ued, HeHR
oM & S AT d@e ¥ Fe o W@ § | SEtE
B §9 76 B M@ d 9Md & [6 Sl &
HIed H HAAT BEN — YH B SRR BT,
T Herdd g |
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(21)

66.

67.

68.

69.

A
e -39 & adf & mepfos dqad @
a4 Rafa B 7
(1) ST BN &
(2) g a2
(3) I3 UREc &l gam

(4) I B

qrpicer  STEGE H @ Rufd & 98
PR E

(1) Sl & g Froen
) Frferae o7 2 sTasgsman

(3) FRT T HEATH
(4) ST Ud &

T % SN A T SUERT A 3k
forg m R mm ?
(1) T9eEh B
(2) TEEES &R
(3) fay g9 e
(4) SIfRTaTE BN

oA H PRI B ¢

(1) 9fa & i oFrer
(2) ST @ 9 ' ¥ #ern
(3) WGf F T A I

(4) 919 T

P.T.O.
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70. ‘R g€ H TH THI ISR T4

& T
(1) FETH
(2) IS
(3) RIS
(4) @RS
f@sr : (997 Ho 71 & 75 TH)

T RT T T # 9EFT qId TE [dFT F
FIT FrT -

&9 G ¢ ¥e fered! @ sl Al wWoad
% AA-feeel wedt 8  agiie we-ui fer
SR §1 S @ie ot & ar @fedt 3y # e
Sod &1 T UER el § qdl R e
T W GE # T e 5| A § foee,
Ol 8% 1 3 TErel § Fikaek W, w,
el B et R 29 # SIS Sl © |
T, I AR Ry & eAR e & i,
TR e Sfiae @ @ SR g g &
e & 9gd 991 819 W el 3 Rl AR
At & AR UEE @ § o wEE g
TRl & ome 9, ST AR S = @ ARG
AR dfes fapra drg-arg e a1 3 AR
% diF B SRl HOgEr B e Ugphie g9l
PN AT T HA & AR g&F B IR B
2139 el AR ARE # AR A% H @Ay,
gl H gES, I qUl BEN Ul 9T S
AAMRE 991G ST &1 daq feHed & g A9
% Ffor, EeT ofX UM H gaer AN adr ©
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B9 IEd RO 4 FH GHE TR B qhd | "
TfyEn @ IR ST B TER g §a
3 foU 2eX o @ A% o B 3l A 9=
¥ UgH B T T XA A SRl oS SuY
TG # o @Ea 9 G &g 8, a8
I Bl |

AN 99l & faeE § fhEe 91 By
g ?

(1) S TgEE &
2) =9 TE &

71.

(3) W, T AR Ry
(4) T &

72. 9RA 9 H IWEIE A § =

GERICEI LenlEn et
(1) T =& A

(2) feAmE qaq

(3) sEg |

(4) @] |

BH RHeE & T 9§ gEd b TRl @
eI

(1) FifF 7€ fasna vaq 2
(2) Fifh To8 ¥ e AT e &
(3) ik F€ T&H, UH A i ®

(4) FifE ToI g=X Tglas 399 I
F fier €

73.
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(23)
74. YN F@ § wRE & onsm #el Red TG TR W,
a7 g Tq TR,
) T SATICI-9Y 9X G,
@ ot ELR CRCL IR
(3) FEI T W T fag™, e STH-Lmad
(4) Terst &R ARt & R S s
75. ‘ITAE 9= § IUE © TEgT % TR B —
(1) A ) o el At e
(3) & (4) &1 BT 29 e,
3T ¢ (Fo Ho 76 & 80 TF) P! Xl -+
[=A1eET FE B TEs UEH 790 TE 76. X 39 F A HH FAE B 7
~ (1) it & (2) TR #
SgRGA! H HH T,
T e, (3) Fgelt B (@) TR w
RO F 77. I G AR F A R W B 7
_qeR e
R ' (1) I @) e
X -, S, . .
. (3) HIT (OREESI
g g 9, )
TR ge B 78. AR SETHA Ul A 9T X SR 2 7
—Or‘_qﬁ[_w,ﬁ_aﬁl (1) a@ g I
ERUCHIIEC SRS (2) S 9 9
T e el (3) ¥ Td |
(4) TG 99 W

NTSE(Level-1) Exam. Nov. — 2017
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79. i o= § SUET §

(1 fr @ R

(3) X ) f:

BAR 29 & ST & © °

(2)

(4) g

G+ o H A § T IF ©
1) gE 2 ga

(3) g (4) g

80.
(1) AP

(3) we&sl

81.

82. ‘TSl THAXW! el =il 39 WG & fog

S-SR & 7

(1) T% = F & e Tei FHl
(2) ST T WIS T BIE Fhl
(3) SUHI-TT SUHl, STAA-SATT T
(4) Tl Th B § el el

83. ‘SRR THE UT & Hel [ BT :

(1) 291 AR Af
(2) 397 & i
(3) 3T % fow Al

(4) 3T T 9

NTSE(Level-1) Exam. Nov. — 2017
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84. fyferiad & & fier are @ -
(1) awi FEf g3 AR HEd geie & B

2 3R a T g @ e FdiE @
ST |

(3) a9 F BN UK BEA Fa1E & S |
(4) ®O I F9E as T BN 9 g2 |

‘e’ 9rs= &1 &1 gi~g foesg 8 ¢
L F+fEm @ T+
(4) ¥ +fa®

85.

(3) 7+ T®

86. fFr=fafad § & HH-A1 THE UE qYET

T HT IJaE B °
(1) TOEAT (2) -8B

(3) STEH™  (4) TATQMRT

fadser : (9o do 87 & 90 7% )
77 [T 77 a2 dneE # H

87. 1. I Sad IFH B 2 P gEdl

F IUER FH § g@ o g |
2. a9 4 TYE & e 2 |

3. Uedl WUHRI Siled, TEU HE
e o ARy SIS Sfie |

4. 39 TG e oFf Fer o 2|

1) 4,2,3,1 (2 2,3, 1,4

3 1,234 (4 2,413
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88.

89.

90.

1. @& 9 fFeEl d9 @qe @l
SfEA ARH Bl © |

2. SEAM dI9 g9 F Sl sl g
2 fafed ofanm |

3. T8 MRl STl &l afeH gl
B T

4. fofeq ofeq™ 9 @R & @ A
ey 3T Red B

4,3,1,2

1)
3

@) 4,1,2,3

2,4,1,3 (4 1,324

1. W = e @ oaeE w1 oA
fpar ST 1 IH SRS  SFIMET
Fed & |

2. I # AW & egAE 2

3. SMgEERY SAqah O T SFIAET
‘qEg A’ FRA © |

4. IFGAH €A Td SAARE A TE
H B B

4,1,2,3

1)
3

1. o9 & 9 Siiad &l Ml hl G
2l

2. did ¥ wdl ol 9% 9+ Sig fae
9 % Sifad T @ g |

3. o9 1 g T - HeAd

4. T 797 A1 o9 |4l Tl | 90
2

(1) 2,341

@) 2,4,3,1

4,3,2,1 (4 2,1,3,4

(2) 27 3’ 17 4

3 1,234 (4 3124
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91.

92.

93.

94.

95.

A

Frfofed & & aF-41 9= T &
ERIREICTE =

(1) %A (2) gud
(3) T (4) g&¥
‘qiffr’ g 7 gTg ®
(1) 2
(3) fi® (4) 3%
‘T U= T ITET B
(1) g 2) q
3 3q 4 &

‘IS E BT el q-[IRT ¢
(1) IR+

(2) S + TS

(3) A + 3

(4) AT + 3

T H 99 EER BT G & o

ggrcm%:
(1) de & a9 Fa

(2) T T &% areAr
(3) el "
(4) BT W g Har &

P.T.O.
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96. ‘G U= H el a9 BT ¢ 100. feffeifae areRl & & T=1 Hl g W@
SISICIER I

(1) ot g @ FE Uz FR M
(2) St o & % T8 iR MUy
(3) F% I3 X MU o offdt o |
4) & & o o, #E U R My

1 +E&+J+I +3
(2 H+I+FR +J+A +7 +3
B) H+A+ X+ ++3

(4) F+{+3+q+A+Z +3T

97. O UGE FUHNW AT H W TH
g BT :

(1) e

(2) i

3) Fege

(4) foge

98. ‘URfYd = H U ®

(1 a

2) fa

(3) &

4) =

99. ‘SrM® BN ail "gedr & [T UH 9=
2

(1) STRRTH
(2) dfed

(3) gHeA
(4) SR

NTSE(Level-1) Exam. Nov. — 2017
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Note : Must fill Language Option of Page 1 at Sr. No. 10 of O.M.R. Sheet.

PART - II (T - I1)
LANGUAGE TEST

HIOT R
(English Language)

Questions : 51 to 100

Direction : (Q. 51 to 53)

Select the word which means the opposite of
the given word.

51. Annoy:
(1) award (2) please
(3) praise (4) applaud
52. Inclined :
(1) fair (2) i1mpartial
(3) neutral (4) biased
53. confess:

(1) concede
(2) contest
(3) deny

(4) admit

Direction : (Q. 54 & 55)

Select the most appropriate option to fill in
the blanks from the given alternatives.

in a poor family of

Haryana.
(1) bear
(2) am born
(3) bore

(4) was born

NTSE(Level-1) Exam. Nov. — 2017

55. Five hundred new houses

by the end of next year.
1)
2
3
4

were built

were being built
will be built
will build

Direction : (Q. 56 to 60)
Read the following passage carefully and

answer the questions based on it. Choose the
most appropriate option.

The capitalist system of society does not
foster healthy relations among human
beings. A few people own all the means of
production and others — though nominally
sell their

imposed upon

labour under
them. The
emphasis of capitalism being on the supreme

few have to

conditions

importance of material wealth the intensity
of its appeal is to the acquisitive intensity. It
promotes worship of economic power with
little regard to the means employed for its
acquisition and the end that it serves. By its
exploitation of human beings to the limits of
endurance its concentration is on the largest
profit rather than maximum production.
Thus the division of human family is done
on the basis of economic circumstance. All
this
dignity. And when the harrowed poor turn to

P.T.O.

is injurious to division of human
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A

the founders of religion for succour, they
rather offer a subtle defence for the
established order. They promise future
happiness for their present suffering and
conjure up visions of paradise to redress the
balance to soothe the suffering and the
revolt of the tortured men. The system

imposes injustice, the religion justifies it.

56. Capitalism 1is injurious to human
relations because it divides society
into two groups :

(1) working and non-working
(2) exploiters and exploited
(3) religious and irreligious

(4) buyers and sellers

57. In a capitalistic system of society each

man wishes :
1)
)
3
4)

to acquire maximum wealth
to produce maximum wealth
to have visions of paradise

to soothe the sufferings of other

58. In a capitalist system :

(1) the means justify the ends
(2)
3)

the ends justify the means

the means endorsed by religion
are strictly followed
(4)

means which lead to exploitation
are strictly prohibited

59. The passage indicates that the

capitalist system is :
(1) fair

(2) ambitious

(3) prosperous

(4) dehumanising

NTSE(Level-1) Exam. Nov. — 2017
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60. The established order is supported by
religion to :

(1) alleviate the suffering of the poor
In the capitalist system

2)

perpetuate the injustice imposed
by the capitalist system

3

balance the suffering of the poor
with hopes of future rewards

4

help the tortured men to seek
redress

Direction : (Q. 61 to 65)

Read the following poem carefully and
answer the questions based on it. Choose the
most appropriate option :

I lay in sorrow, in deep distress;
My grief a proud man heard,;

His looks were cold, he gave me gold,
But not a kindly word.

My sorrow passed — I paid him back
The gold he gave to me;

Then stood erect and spoke my thanks
And blessed his charity.

I lay in want, and grief and pain;
A poor man passed my way,

He bound my head, he gave me bread,
He watched me night and day.

How shall I pay him back again
For all he did to me ?

Oh, gold is great, but greater far

Is heavenly sympathy.
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61. How did the proud man help the poet
when he was in deep distress ?
(1) He took him home
(2) He gave some money
(3) He pitied the poet
(4) He watched the poet day and
night
62. What was it the proud man did not
give the poet ?
(1) gold (2) sympathy
(3) money (4) attention
63. How did the poor man take care of the
poet ?
(1) The poor man bound his head
which was hurt
(2) The poor man gave him food and
gold
(3) The poor man gave him some
money
(4) The poor man gave food to the
poet and took care of him day and
night
64. Which of the following statement is
not true ?
(1) The poor man thanked the

heavenly sympathy of the poet.
(2)

When the poet was in sorrow he
was given money.

(3) The poet repaid his debt to the
proud man by Dblessing his

charity.

(4) The poet says he cannot repay the

poor man for his sympathy.

NTSE(Level-1) Exam. Nov. — 2017

(29)

A

65. Which word in the poem means
“feeling of pity or sorrow for the
distress of another” ?

(1) kindness  (2) blessing

(3) sympathy (4) charity

Direction : (Q. 66 to 70)

Read the following passage carefully and
answer the questions based on it. Choose the
most appropriate option :

It is becoming very dangerous to sit in
the sun. If you have a fashionable suntan, it
doesn't necessarily mean that you have lots
of outdoor activities but it does mean that
you are in greater danger of getting skin
cancer and cataracts. The ozone layer, which
us from the sun's

protects dangerous

ultraviolet rays, 1s progressively
deteriorating. In February 1992, a scientific
report said that people in Canada, Northern
Europe and Russia were in serious danger.
In 1985, the news of destruction of the ozone
layer in the South Pole alarmed people in
the Southern Hemisphere. In Australia,
there are now three times more cases of skin
cancer than in the past. In New Zealand,
teachers tell school children to wear hats
and not to sit in the sun. What causes the
destruction of the ozone layer ? Mostly
chlorofluorocarbons (CFCs), aerosol sprays,
refrigerators, air conditioners, as well as
send

industrial chemicals,

chlorofluorocarbons into the atmosphere.
Governments are now trying very hard to
forbid CFCs, but it will be expensive and
difficult to do so. After the first ozone alarm
in the Southern Hemisphere, ecologists all

over the world asked governments to take

P.T.O.
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strict  measures 1immediately. Some

governments did, but not soon enough.
Other countries believe that they have other
problems which are more important. Now
stricter measures are going to be taken, but
already a lot of damage has been done.

............. dangerous to the skin.
(1) The ozone layer is

(2) The atmosphere is

(3) Ultraviolet rays are

(4) The sand storm is

67. CFCs are caused by ............ .

(1) researchers

(2) ecologists

(3) aerosol sprays and industries

(4) archaeologists

68. Fashionable suntan may ............ .
(1) make you look dark

(2) cause skin cancer and cataract
(3) make you look beautiful

(4) not be acceptable to all

69. The author is not very ............ .
(1) clear (2) hopeless

(3) hopeful (4) offensive

70. The word 'deteriorate' in the passage

means ............ :
(1)
(2)
3)
(4)

to become healthy
to become worse
to become strong

to become healthy and strong

NTSE(Level-1) Exam. Nov. — 2017
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Direction : (Q. 71 & 72) The following five
sentences come from a paragraph. The first

and the last sentences are given.

Choose the right order in which the three
sentences (PQR) should appear to complete
the paragraph.

71. S1. The proverb goes, 'If speech is

silver, silence is golden'.

.............................................

S5. We should talk when it is must.

P — Above all, we should know when
not to talk, how much to talk and
what to talk.

Q-1It 1is extremely precious
quality to know when to talk, how

much to talk and what to talk.

an

R - We should

remember to use our tongue

therefore always

sparingly.
Choose from the options given below :
(1) PRQ
(2) RPQ
(3) RQP

(4) PQR
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72. S1. The great advantage of early Direction : (Q. 73 to 75)

rising is that one can start one's Select the meaning of the given idioms.

work long before others.
73. Bring to book

SZ. ............................................ (1) tO punish
(2) to write
1 Pt
(3) to remember
S, e (4) to keep safe
S5. Also we find time to do some 74. Cry for the moon
exercise in the fresh morning air. (1) to weep on failure

(2) to wish for something loving

P — The early risers can do a large (3) to weep for a beautiful thing

amount of hard work before other . o .
(4) to wish for something impossible

men get out of bed.

75. Chalk and cheese

Q — The work done at that time is (1) all white

generally well done.
(2) different from each other

R — In the early morning, the mind is (3) similar to each other
fresh and no sounds or noises (4) write and eat

disturb our attention.
Direction : (Q. 76 to 85) Choose the word

hich best fills the blank the gi
Choose from the options given below : which best fills the blank from the given four

options :
(1) PRQ 76. The birth of a girl child in Indian
SOCIEtY 1S A1 vvvvenenrerinenennnnn, event.
) RPQ (1) unwelcomeness
(3) RQP (2) unwelcome
(3) unwelcomely
(4) QPR (4) unwelcomingly
NTSE(Level-1) Exam. Nov. — 2017 P.T. O.
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77.

78.

79.

80.

81.

82.

We should plant a

of trees to reduce the environmental

pollution.
(1) great (2) big
(3) large (4) high

The tireless work and selfless help of
the people controlled the .................
within a few days.

(2) event

(4) incident

(1) occasion

(3) situation

Three children have been .................

from the school for persistent bad

behavior.
(2) deleted

(4) abolished

(1) removed

(3) erased

Tanu Bhardwaj, a young poetess, has
been receiving a lot of

publicity for her impressive poetry.

(1) adorable
(3) additive

(2) adverse

(4) averse

The Kapil Sharma show has been
the best comedy show of the

year
(1) valued (2) rated
(3) evaluated (4) viewed

.............

The chief guest was
school gate by the principal and other
staff members.

(1) respected (2) greeted

(3) honoured (4) welcomed
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83. All firsts of the baby are
in the parents' memories.

.................

(1) written (2) carved
(3) inscribed (4) etched
84. Market leaders wusually want to
................ their market share even
further, or at least to protect their
current market share.
(1) establish
(2) increase
(3) dominate
(4) decrease
85. Children grow up and eventually
start leading their individual life 'a
life that .....cccevevenininen.n. to them'.
(1) refers
(2) belongs
(3) relates
(4) concerns
Direction : (Q. 86 to 88)
Fill in the blank choosing the most
appropriate option (giving the similar

meaning as shown in the options) from the
given phrases :

86. The police are the robbery

of a famous painting.
(1) findingin

(2) finding out

(3) looking on

(4) looking into
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87. You have missed many lessons, so
now you will have to the

................

other students.
(1) catch up with
(2) hurry up

(3) learn with
(4) mix with

88. My brother's wedding was originally

scheduled for May 14, but it has been
until November 24.

(1) putup
(2) put off
(3) put away
(4) put to

Direction : (Q. 89 & 90)

The following questions have the second
sentence missing. Choose the appropriate
sentence from the given option to complete it.

89. 1. Margaret travelled about with
some of the missionaries of the
Ramakrishna Mission and saw
different parts of India.

1 P

iii. She learnt the ways and manners
of Indians.

(1) This was something Margaret did.

(2) This is simply impossible for us to
think of.

(3) She must have been some genius.

(4) She visited different holy places

in India.
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A

90. i. It has been observed that there is
surge in crimes involving
computers.

1.

iii. Computer crimes are fast and
growing because the evolution of
technology fast, but the

evolution of law is slow.

1s

(1) People commit computer crimes
because of easy availability of

computers.
(2) People commit computer crimes
because of society's declining

ethical standards more than any
economic need.

(3) People commit computer crimes
because controls can't be
implemented.

(4) People commit computer crimes
because it is not a national problem.

Direction : (Q. 91 to 100)

In the following passage there are some
numbered blanks. Fill in the blanks by
selecting the most appropriate word for each

blank from the given options.

An important task (91)

successfully undertake is to eliminate the

............ the youth can
curse of dowry. Dowry is responsible for a
large number of deaths of innocent married
the
parents of the marriageable daughters. The
birth of (93)

society 1s an unwelcome event. It generates

girls and harassment (92)

daughter in Indian

gloom and despair (94) the parents

simply because of the large dowry which will

be required for marrying the girl. The youth,

P.T.O.
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A
95) ... boys and girls, can take a pledge
not to give and accept dowry. Also they
((SI5) J— force their parents to stop this
undesirable practice. This problem directly
concerns the youth (97) ............ . Therefore
they can easily fight it and (98) ............ lives

from being lost. The youth in the cities can
get in touch with the youth in the rural
areas (99) ............ educate them with a view
of creating a mass movement for the
abolition of dowry. Where legal sanctions
against dowry (100) ............ , this social

movement by the youth will prove effective.

91. (1) this (2) that
(3) who (4) what
92. (1) to (2) by
(3) for (4) of
93. (1) any (2) the
3) a (4) each
94. (1) with (2) to
(3) among (4) for
95. (1) every (2) both
(3) all (4) no
96. (1) will (2) can
(3) might (4) ought

97. (1) themselves (2) himself
(3) herself (4) itself

98. (1) can save (2) saved

(3) save (4) saves

(34)

99.

100.

1)
3

1)
2)
3
4

yet (2) and
although  (4) but

will nearly fail
had nearly failed
nearly failed

have nearly failed
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PART - I1I (97T - I11)
SCHOLASTIC APTITUDE TEST

Afere FvIar geror

Questions : 101 to 200

101.

102.

103.

Which one of the following is made of

only one type of macromolecule ?
(1) Virus

(2) Plasmid

(3) Nucleosome

(4) Ribosome

Among carbohydrates, lipids,

proteins and ATP, the relative energy

yield in kcal/gm is best represented

by :

(1) Lipids > Carbohydrates > ATP
(2) ATP > Lipids > Proteins

(3) Lipids > ATP > Carbohydrates

(4) Lipids > Proteins > ATP

The sub units of ribosomes in cells of

nephron of mouse are :
(1) 50S & 30S
(2) 40S & 23S
(3) 70S & 16S

(4) 60S & 40S

NTSE(Level-1) Exam. Nov. — 2017

101.

102.

103.

frefafed & @ &9 399 & JBR &
geq 7] | et & 8 7

(1) faurg

(2) wEIHS

(3) frram (i)
(4) TESE™

FeEEged, a9, Hed aar ATP § 4,
el HoTl B ScaeT H fhell el Ifd
iR i e A

(1) JE1 > FEERged > ATP
(2) ATP > g1 > qiéH
(3) a@l > ATP > FEEEgcd

(4) a1 > Wed > ATP

R & go 4 FREE e @
s A ¥

(1) 508 TAT 30S

(2) 408 TAT 23S

(3) 70S T 16S

(4) 60S T 40S

P.T.O.
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104.

105.

106.

Involuntary muscles are not found in :
(1) Iris

(2) bronchi of lung

(3) tongue

(4) heart

Different microorganisms taking part
in nitrogen cycle are :

i.  Rhizobium in roots

ii. Ammonifying bacteria

iii. Nitrifying bacteria

iv. Denitrifying bacteria

Which of them strictly work under
anaerobic conditions ?

(1) onlyiv

2) 1&iv

3) 1,11 &1iv

4) 11 &iv

The following pictures were drawn by

a student to show different stages of
binary fission :

(|) (i) (iif)

The correct sequence of these flgures
is:

(1) 1ii, i, iv, 1

(2) 1ii, iv, i1, 1

(3) 1ii, iii, iv, 1

4) iv, iii, i, i
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104.

105.

106.

ITfess ARl 7&f & ¥
(1) g o
(2) BFHH HI LaEeEl |

(3) e ¥

4) &4 ¥
AEEISH Wk H AR o A e S|
%.

i SEf | SuRted EsiitaaH

ii.  STHNIHRE ST

iii. TEHRE ST

iv. fEdIeRe Sarg

T 9 BN-61 faeeT dad TR
uiRfRerfet § #rd e ® 7

(1) &ad iv

(2) i A iv

(3) 1,1 X iv

(4) ii A iv

F BE 4 omEr § faEed & fatve
Wﬁﬁﬁ&ﬁ%%%ﬂﬁﬂﬁﬁ@ﬁaﬁ@

Ao

ED aﬂw‘r ) aa?aﬁﬁr % :
(1) ii, i, iv, i
)
(3)
(4)

1ii, iv, 11, 1
1, i1, iv, 1

1v, 111, 11, 1
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107.

108.

109.

110.

Which of the following is not strictly
considered as a part of neuron ?

(1) Dendrite

(2) Myelin sheath

(3) Axon

(4) Cell body

Which of the following statement
about autotrophs is incorrect ?

(1) They synthesize carbohydrates
from carbon dioxide and water.

(2) They store carbohydrate in the
form of starch.

(3) They convert water & CO, into
carbohydrate only in the absence
of light.

(4) They constitute first trophic level
in the food chain.

Correct pathway of blood in

circulatory system is :

(1) atria — ventricles — artery —
veins

(2) ventricles — atria — veins —
arteries

(3) ventricles — veins — atria —
arteries

(4) atria — arteries — ventricles —

velns

Which of the following is essential for
formation of thyroxine hormone in
the thyroid gland ?

(1) Sodium
(2) Chloride
(3) Potassium
(4) Iodine
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107.

108.

109.

110.

A

T § B4 AT F A SR

& AN BT SAETE 78 & °

(1) gfwa

(2) WEEE # Wa

(3) df=rhre

(4) FAH FE

IO & d¥y § e # @ e

Foe g&f 7& e ?

(1) ¥ FEERged  dafd &d &
HIITSZAAEE T od 9 |

(2) I FEACEgeH H WHE & &I H
g #3 2|

(3) ¥ CO, T H,0 H FEBEEIH
4 HEwo H OFA dad gd ol
IRl 7 X 2|

(4) 9 ARR @l § Yed dH &R W
g

UREER §F ¥ @ & 98 d g&7 Y

E

(1) offes — Mg — ga+ —

(2) M@g — omfcls — /T — g==it
(3) Mg — R — offeis — &=

(4) Mg — g8+ — M@ — 3|

A G H e eREN & a9 @
fu ffafeg § @ 9 oTaes § 7

(1) qfEad
(2) FAEE
(3) urefiEw
(4) AR

P.T.O.
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111.

112.

113.

114.

In a given food chain if frog has
100 J of energy then the energy
available with plants and snake
respectively will be :

Plants — Insect = Frog — Snake

1000 J and 10 J
10000 J and 10 J
10 J and 1000 J
1000 J and 100 J

@
@)
3
4

Characters that are transmitted from

parents to offspring during

reproduction show :
(1)
2

Only similarities with parents

Only variations with parents

(3) Both similarities and variation
with parents
(4) Neither similarities nor

variations with parents

Rajiv was absent in class due to
muscle pain which he claims was due
to excess of physical exercise he has
done yesterday. The pain is due to :

(1) Formation of Pyruvic Acid
(2) Formation of Acetic Acid
(3) Formation of Lactic Acid

(4) Formation of Hydrochloric Acid

Which of the following constitutes a
good food chain ?

(1) Grass, Wheat, Mango

(2) Grass, Goat, Lion

(3) Goat, Cow, Elephant

(4) Grass, Fish, Goat
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111.

112.

113.

114.

d | AER Jud # IR Hew & UM
100 J ot & a qE 9 "9 F 9™

AT YA Foll BN

QY — FHiT — Tk — A

1000 J AT 10 J
10000 J dIT1 10 J
(3) 10 J 711000 J
(4) 1000 J 741 100 J

AU | Hafd ®§ S ard Jor Saiia
P 8

1)
2)

(1) HI-Oar 9 dad T
(2) HIAI-TUaT 9 aq (e
(3) TII-foar & 9T g Rar &=t

(4) 9ra-faar & A1 Q@ GEEar e AT 8
fo=ar

goufEt § € & PR qolg e A
SR o | 3% FAR AH TR
AAE & RO A BA| T B BRI
2

(1) UIZ&idaes 37 BT I

(2) UHIeH =T B ST

(3) e oT=T & T

(4) TESEAIMNG ST &1 a9
Frfofad & & #F-91 998 SR oMBR
sfege @1 T @ § 7

(1) =4, T8, M

(2) 99, TH, AW

(3) TR, T, Bl

(4) °m, H&dl, T
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115.

116.

117.

Which has more number of particles ?
(1) 46 g of Na atom

(2) 8 gof O, molecules

(3) 0.1 mole of carbon atom

(4) 28 g of N, molecules

Choose the correct option about
cheese :

(1) Cheese is an example of emulsion
in which dispersed phase i1s a
liquid and dispersing medium is
solid.

which
is solid and

(2) Example of gel in
dispersed phase

dispersing medium is liquid.

3

Example of emulsion in which
dispersed phase 1s solid and

dispersing medium is liquid.

which
dispersed phase 1s liquid and

(4) Example of gel in

dispersing medium is solid.

If the aluminium salt of anion 'X is
Al X, the formula of magnesium salt
of 'X' will be :

(1) Mg, X
(2) MgX,
(3) MgX

(4) MgyX,
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115.

116.

117.

e & &1 der ot § 7
(1) 46 ¢ Na TT

(2) 8g 0, oY

(3) 0.1 HieT e T
(4) 28g N, TEIH &7

TR % gy § el fahed @ e
R

Y T 39S 1 IaTed0 & forad
qREafNT oreRer avd © SR aiEde
T TF o & |

)

TR uh d9 g ad aRafg
TEel o § SR uiede qrey
T X ¢ |

2)

TR AN & SaeYe §  fored
gfefid e I & iR uiEe
e T R ¢ |

I H SEEd B forEd  Rafg
O Uh avd & S giEe
e TF o 2|

3

4

BIEY FTOEE X 9"
AlLX, T T B Q1 AR qEor
X % A G BT

(1) Mg, X
(2) MgX,
(3) MgX
4) MgX,

P.T.O.
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118.

119.

120.

121.

On reacting a compound of calcium
(x) with water compound (y) 1is
obtained. (y) on boiling with NH,CI a
gas (2) x, y, & z
respectively are :

(1) CaCO,, CaO, NH,
(2) CaCO,, CaO, Cl,
3) CaO, CaCl,, Cl,

(4) CaO, Ca(OH),, NH,

1s obtained.

A metal x i1s placed below Al and
above Pb. The extraction of metal is
done by reacting carbon with its
oxide. Metal oxide i1s used to join

cracks of machine parts and rail

lines by reacting it with Al. The
metal is :

(1) Zn

2) Cu

(3) Fe

(4) Mg

A colourless gas with choking smell is

evolved when Cu turning are heated
with Conc. H,SO,. The gas is :

(1) SO,

(2) S0,

3) H,S

@ S

Acetic acid is reduced with LiAlH, to
give :

(1) CH,CH,OH

(2) CH,CHO

(3) CH,OH

(40 CH,CH,
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118.

119.

120.

121.

Feaad F T ANE (x) B OTA G
TR UM IR AR (y) W e ®
(y) ® NH,Cl & & &M | 19 (2)
T IET B 21 x, y, z BET: E ¢

(1) CaCO,, CaO, NH,

(2) CaCO,, CaO, Cl,

(3) CaO, CaCl, Cl,

(4) CaO, Ca(OH),, NH,

o1q x Ahaar Ao H Al § S g Pb
% SR Red & 39 91 & A o
T SRS 9 FEA H ANERA W
o oen 39 A1 offeEEs W Al &

He AAHAT B ITEN A g g
% TERAl B R Sed J FREr 6 g,

g ®

(1) Zn

2) Cu

(3) Fe

(4) Mg

99 did W FAl B diE H,S0, &
T T R T ® Al U TN -
g 79 &1 T 8§, 98 4

(1) SO,
(2) SO,
(3) H,S
4) S

Ofafess o=t B LiAlH, 9 S0=Rd &
TR O B ®

(1) CH,CH,0H
(2) CH,CHO
(3) CH,0H
(4) CH,CH,
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122.

123.

124.

125.

Read the statements about carbon
and choose correct option :

A. It has small atomic size.

B. TIts melting & boiling point is low
as compared to other members of
group.

C. It shows electropositive character.

D. It shows maximum tendency of
catenation.

@
@)
3
4

Which of the following metal is not

A, B are correct
B, D are correct
A, C & D are correct

A & D are correct

placed in eighth group of Mendeleev
periodic table ?

(1) Fe
3) Pt

(2) Na
(4) Ni

Baking powder is a mixture of :

(1) Sodium carbonate & Sodium
hydrogen carbonate
Sodium carbonate & Acetic acid

@)
3

Sodium hydrogen carbonate &
methanoic acid

4

Sodium hydrogen carbonate &
tarteric acid

Which of the following elements form
acidic oxide ?

A. Element with atomic no. 7

B. Element with atomic no. 3

C. Element with atomic no. 15

D. Element with atomic no. 19

1) A&B 2 A&C

3 B&D (4) Only A
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(41)

122,

123.

124.

125.

A
e F Gy H e O w6
yfeu &R @& fshe g
A THH TTAY AR Bl F |

B. Z9% ToHiE g D g9 & FH
e e FH 2 |

C. & Qe == Yalkid &
2l

D. & HEee & AT Fghi Jeia
T 2 |

ATB T& ¥

BaD @& g

(3) A,CaD Tl 2

(4) A9D T& 2

Fret & @ $9-91 oa1g S=aig & e
AR & afed o ¥ 7&f W & °

1)
2)

(1) Fe
(3) Pt

(2) Na

(4) Ni

SfepT dresY T e R

(1) Afeqq FEHe T qfead eRgem
A H

(2) Aifeqq FEMe g UEifed 7 H

(3) TIfsTH eRISE FEHe d HAFEH
T

(4) QfETY eEFOH FEHE g TReRE
T B

9 7 9 99 99 oWig SieEs
S & 7

A T o T FEE T8

B. T« fSTEa& W] F40F 3 ©

C. T foTee THY 4% 15 &

D. T [T WA FHi% 19 §

(1) A3XB (2) AFXC

(3) B3 D (4) Fad A

P.T.O.
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126.

127.

128.

KMnO, is a strong oxidising agent in
acidic medium. To provide acidic
medium H,S0, is used instead of HCI
because :

(1) H,SO, is stronger acid than HCI
(2) H,S0,is a dibasic acid

(3) HClis oxidised by KMnO, to Cl,

(4) Only H,SO, is completely ionized

Consider the two statements below
one labelled as Assertion (A) and
other as Reason (R). Examine these
two statements carefully and decide if
4 R)
individually true and if so (R) is a

Assertion and Reason

correct explanation of (A) select your
answer using the code given below :
Assertion (A) : CO, is a gas but SiO,
1s a solid at room temperature.
Reason (R) : CO, contain C = O
bonds but SiO, does not contain
Si = O bonds.

(1) Both A & R are true and R is a
correct explanation of A

(2) Both A & R are true but R is not
correct explanation of A

(3) A s true R is false
(4) Aisfalse R is true

Trippling the speed of a motor car
multiplies the distance needed for

stopping it by :
1) 3 (2) 6
3 9 4) 12
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126.

127.

128.

KMnO, T H=M H U oA
SMeRliFRe® | ST "M I~ i
% U HCl & &9 W H,SO, &
SYART fFAT ST B i

(1) H,SO,, HCI %l 39 Jaa &= &
(2) H,S0, T% SEafE ord &

(3) KMnO,, HCl & Cl, % 3ifeigd
FY A ®

(4) B9 H,SO, To/qar STEIed el &
e F @ Fu R @ E T A wh
AEHYT (A) B T T Y R) 2
FYAl P AFYEF UG & a6 T8 MO
FX 5 o (A) der (R) ARy
TR ST | & qur fspy et
F & A g1 oA BT W R @
HUR IT 3109 IR G

oREeT (A) © CO, W6 T 8 T
F F TN W SiO, TF 319 B
frey (R) : CO, § C = O 39 2q
T SiO, # Si=0 ¥ &l & |

(1) A @ R 39 99 & aeT R, A &l
el e B

(2) AT R I & € g R, A &
el @A T e

3) A 99 & g R o9 &
(4) A 99 ¢ g R &9 ©

fepdl T 1 & A o0 T T IR
U S Al g fhad Jon 96 Sl
g7
1) 3 @ 6

3) 9 4) 12
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129.

130.

131.

132.

Two bodies of masses m, and m, are
dropped from different heights 'a' and
'b'. The ratio of time taken by them to
reach the ground is :

(1) VJa:+b 2) a:b
@ 1.1 @) m,:m,
a b

A person throws ball with a velocity
'v' from top of a building in vertically
upward direction. The ball reaches
the ground with a speed of '3v'. The
height of the building is :

o 2 @ 3
8

2

2
3) 6v”
g

(4) v~
g

A bottle full of water containing an
air bubble is rotated in horizontal
circle by a string tied to the neck of
the bottle. Then air bubble will :

(1) be collected at bottom

(2) remain unaffected

(3) be collected at the wall of bottle
(4) be collected at the neck

Three voltmeters all having different

resistances are joined as shown.
When some potential difference is
applied across A and B, then readings

in voltmeter are V;, V, and V:

W) W)
A B
)
1 vi=V, 2 V<V,

B Vi+tVo=V; (9 Vi+V,>V,
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129.

130.

131.

132.

A

A gEe S FEEE m, T om, ©
T IR STAT-STCRT SAEAl 'a' qe b’
§ TF Y OB W EE W ugE &
fou % s AU U HEE H eryud
2

(1) \/E;\/Z

@) a:b

1'1 m_ :m
3 P 4) m,:m,
U G g B ARG & B 9 e
IW FH X W AT F BhA B e
gl B FAe W 'Sv' & O 9 AR B
39 ARG & FHar anl
(l)ﬂ (2)£

g
@ & (0 2

g g

UMl 9 90 U diad Bl Ed gar @l
U gAgal 8, & S9U R # A
arT F AR g9 F gEmn mWl gaga
Pl Ry o 2Rt 7

(1) AT ® qd 9T Al ST

(2) Refy § g uRads & arm

(3) qqd H AN B GF & W

(4) 99 P HI X W I« ST

dM diceHie [Tl Sfcieehdr & A=
=1 &, # a9t T R & Srgar el
T B e RR A 9 B & 99 g4
faweariR eI T Al diceHiex aredid
F AV, V,, TGV, A :

A B
(V)
1 Vi=V, @ Vi<V,

B Vi+Vo=V;, (49 Vi+V,>V,

P.T.O.
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133.

134.

135.

136.

What is potential difference across
AB?

A N II AAA AAA .B
A 10 60

(1) 24V 2 0V

3) 6V (4) 18V

Three equal resistors connected in
series across a source of emf dissipate
10 watt. If the same resistors are
connected in parallel across the same
emf, the power dissipated will be :

(1) 10 watt (2) 30 watt
3) % watt  (4) 90 watt

A long wire carries a steady current.
It is then bent into a circle of one
turn and magnetic field at the centre
of coil is B. Then it is bent into
n-turns. Magnetic field at centre of
coil will be :

(1) 2n°B (2) 2nB

(3) n’B (4) nB

If 'p' and 'q' are distance of object and

image from principal focus of a

concave mirror then what 1s the
relation between 'p', 'q¢" and 'f' ?

1) pg=+f
(2 pg=f

(3) pg=f*

1
4 = _
(4) pq F
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133.

134.

135.

136.

AB T80 % 99 fagq fawar &1 A
0 BRM ?

—d w7
3A 5y 10 6Q

(1) 24V @2 oV

3) 6V 4) 18V

A OS99 & UfdAEdl & Soned H

ol fga & | Slisd W ol Eud

W 10 A€ 2| R I URNEH &
qE ®9 H I fagd wid & A
Site {3 S, o Sl @ud @l aX enl

(1) 10aE @) 304E
3) ? e (4) 904

Uk ol g dX H fOEd w1 Heq
| AT It T e B s | 2 e
U W 3HE dm W g & H
qREreT B o B SWR A
n-%Y Al AR FUsel & &9 H
fer oMo, @ 3W oSl & d=
Frhid &5 U AN B

(1) 2n°B (2) 2nB
(3) n’B (4) nB

U JEqq a0 & G g # a5
T O @ gl p d & g B p, g
q°r f & e F e e

(1) pg= \/7
2 pa=f
(3) pg=f?

1
4 = _
(4) pq F
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137.

138.

139.

140.

When the object is at distances u,
and u, from a lens, a real and virtual
images are formed respectively
having the same magnification. The
focal length of lens is :

O w2 @ A

U +U2

3) @ w +u,

A pump motor is used to deliver
water at a certain rate from a given
pipe. To obtain twice as much water
from the same pipe in same time,
power of motor has to be increased :

(1) 16 times (2) 4 times
(3) 8 times (4) 2 times
Ultrasonic, infrasonic and

audiowaves travel through a medium
with speeds v,, v, and v, respectively.
Then :

(1) vy, vy and vy are nearly equal

2) vy,2v320,

B) v,2v3<,

(4) vy<<v,andv,=v,

The magnetic field lines due to a bar
magnet are correctly shown in :

(a) D (b)C
1) a @ b
3) c @ d
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137.

138.

139.

140.

A

fordll a%] ® T oF A w, d9 w, 30
W WY W G UG el gifes

AT B qeT @S & 99 f UH gEE
AT B | o 1 BHE g0 e e ?

(1) w +-2 @) ”12”2

3) ”1;”2 @) u +uy

UF T HleX T T gT ugy | Rl
W Y F ol 21 SR Il 9By 4
I & a9y ° U T S, ar
e & QiR (TER) S T U

(1) 167 (2) 470

(3) 87 (4) 270

AN, faged @M adq gF @ qal

fpel 71| § vy, v, O vy AT F FAd

g1 za feafa &

(1) vy, vy, T vy BT HIE TTHT GHA
Al

2) v,2v320,

(3) vySvs<v,

(4) vy<<v,Wv; =0,

e e H wT gEd & eI A
TErett @ ge g g e R ?

N N
(a) (b)

S S

N N
(c) >< (d) >

S S
1) a @) b
(3) ¢ @ d

P.T.O
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141.

142.

143.

144.

145.

Non Co-operation movement was

withdrawn due to :

(1) Jallian Wala Bagh Masscare
(2) Chauri-Chaura incident

(3) Rowlatt Act introduced

(4) Nehru Reports Rejection

The term 'Liberalism' is derived from
the 'Latin' word 'Liber' meaning :

(1) Democratic
(2) Capitalist
(3) Socialist
(4) Free

The French Revolution occured in
which following year ?

(1) 1788
(3) 1790

(2) 1789

(4) 1791

Who was the chief architect of the
unification of Germany ?

(1) Chief Minister William - I

(2) King William - II

(3) Chief Minister Ottovon Bismarck
(4) King Kaisar
Who the

described as the most dangerous
Duke

among following was

enemy of social order by
Metternich ?

(1) Louis Philippe

(2) Karol Kurpinski
(3) Johan Gottfried
(4) Guiseppe Mazzini
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141.

142.

143.

144.

145.

9 fFE ®ROT 9 STHEdrT  STaled
aifee e @ ?

(1) Serare am Srhs
(2) F-ER g

(3) e U 7 g
(4) 7e& R 36K &

‘FeRAEE’ (Liberalism) 915 dfes &
g€ ‘TR’ (Liber) ¥ foram mm foraem
g B

(1) TR

©2) et

(3) dHISIAR

(4) ST

Fret forg o & spiRi b &g 7

(1) 1788
(3) 1790 (4) 1791

SHA % THER & 49 M OH |
fepeepT ST © 7

(1) g&a w1 foerEm - 1

(2) e fafees - 10

(3) geA =l Sl e

(4) T HAT

g% HAE 7 A A R T
Ftferet s T8 G G Hel ¢

(2) 1789

(1) T2 ffer

(2) @ HAIE
(3) Sl Mefhs
(4) frgdr afor
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146.

147.

148.

149.

150.

The
powerfully influenced

Vietnam  were
by which

elites 1n

following culture ?

(1) Indian

(2) American

(3) European

(4) Chinese

Who was the founder of Hoa Hao
movement ?

(1) Huynh Phu So

(2) Phan Boi Chau

(3) Phan Chu Trinch

(4) The official of Imperial court

In January 1930 Gandhi ji wrote a

letter
Demands' to whom ?

(1) Lord Irwin
(2) Lord Curzon
(3) Lord Ripon
(4) Lord Lytton

stating (asking) 'Eleven

Who was the first President of Indian
National Congress ?

(1) Dada Bhai Naroji

(2) Surendranath Banerjee
(3) W.C. Bonnerjee

(4) Gopal Krishna Gokhale

What was the theme of the movie
'Green Beret' ?

(1) To Glorify War

(2) To Glorify Peace

(8) To Glorify Socialism
(4) To Glorify Capitalism
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146.

147.

148.

149.

150.

A

faaTm & Bem T = R g
T geraq & °?

(1) 9Rd™
(2) TS
(3) FAM
(4) @IS
AT BT SMRIAT & TeIE B & ?

(1) g&= g a
(2) BF a9 8
(3) B g fi=
(4) & PE F THAT

1930 ¥ e S I e F @ fRE e
g @ O fomar ?

(1) e g

(2) @S FHoA

(3) @g Ru=

(4) dfe foeq

;ﬂ?ﬁqwmﬁ%@ﬁ?ﬁ@?ﬁ?
?

(1) T A1 A

(2) GLEAT Il

(3) s=g. ®I. Tl

(4) T T e

I R W @ g g ;|

oqr 7

(1) J= B g

(2) Q=T & A

(3) |HTEE &I A

(4) ToEmE H A

P.T.O.

Downloaded from cclchapter.in



151.

152.

153.

154.

155.

Who s writer of 'Vande

Mataram'?
1)
@
3
4

the

Rabindranath Tagore
Subhash Chandra Bose
Raja Ravi Verma

Bankim Chandra
(Chattopadhyay)

Chatterjee

'"Trade Unions' first started in which
of the following country ?

(1) England (2) America
(3) France (4) Russia

Under which of the following type of
resource can tidal energy be put ?

(1) Replenishable

(2) Human made

(3) Abiotic

(4) Non-recyclable

In which of the following state is
laterite soil found ?

(1) Jammu and Kashmir

(2) Kerala

(3) Uttarakhand

(4) Jharkhand

Which of the following describes a
system of agriculture where a single

crop is grown on a large area ?
(1) Shifting Agriculture

(2) Plantation Agriculture
(3) Horticulture

(4) Intensive Agriculture
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151.

152.

153.

154.

155.

‘< HIAE B AGH B § 7

(1) =g

(2) GIY =T= 99

(3) T Xq g

(4) dfEA T= e ()

g8 gEe = H @ fRE 3w oA g
(ameesr) &% 7

(1) e 2) ol

(3) ¥ (4) e (w4)
ST Soll Ffrad § 9 76 TR @
RIEE I

1) g 9 a

(2) A™aRd

(3) 3™

(4) STHA

3 9 e T H Ao gel o Sl
g7

(1) 9 AR FFR

(2) T

(3) IAES

(4) FRES

frfafed & & @-a1 39 PN Joml
F goiar & e @ wed a9 9
& § I S 8 ?

(1) ®IFTd

(2) IFEF

(3) 9T FW

(4) T P
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156.

157.

158.

159.

160.

Which two of the following extreme
locations are connected by the east -
west corridor ?

(1) Mumbai and Nagpur

(2) Mumbai and Kolkata

(3) Silcher and Porbandar

(4) Nagpur and Siliguri

Which of the following ports is the
land-locked
protected port along the east-coast ?
(1) Chennai

(2) Tuticorin

(3) Paradip

(4) Visakhapatnam

deepest and well

Which one of the following agencies
market steel for the public sector
plants ?

(1) HAIL (2) SAIL

(3) TATA STEEL(4) MNCC

Which of the following mineral found
in monazite sands ?

(1) Mineral oil
(3) Thorium

(2) Uranium
(4) Coal

Which one of the following statement
1s not true ?

(1) Mica can be clear, black, green,
red, yellow or brown.

Limestone 1s found associated
with
carbonates or

@)

composed of calcium

calcium and
magnesium carbonates.

(3) Aluminium has good conductivity
and great malleability.

4)

Generally minerals are not found
in 'ore'.
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156.

157.

158.

159.

160.

A

et & @ 399 4 3y e @@
ydi-afeer iR § s € ?

(1) o T TG

(2) T AR FHwHa

(3) foeaR ofiX dRee

(4) SMYL T fafeel

T B9 W Y aC W Red ®
S ool wRlE qdr ofaH TeE @
T B e qo g © 7

1) ==

(2) R

(3) UM

(4) fgemeEmgeT™

1 @ - o aeete 8 o
W ® IO ¥ Suael HOr 8 7

(1) 3 (HAIL) (2) @ (SAIL)

(3) el € (4) TH.OH.HH
qeeEe 9 B efaiad § 9 @e-a
Qi grEr o § 7

(1) @i aa (2) RN

(3) ™ (4) HF

=1 & 9 Fi9-T1 w9 98 F@T 8 ?

(1) 9% uesf, ®, &, @, U
AT X T H B FEA © |

(2) TN WeR  Ffeqsd A Hiedsd
FEMe T FERET FEHe 3
TN Fees § 9 S 2

(3) TYHEH H STl =R
Tl I8 STl & |
(4) T @S ‘el ® e 9
EICIA
P.T.O.
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A (50)

161. Match the following : 161. 3T e ik -
1. salt water lake (i) Barren 1. 9d ¥ @R 1) é’ﬂ (W)
in India island tﬂ:ﬁ _%Pf ﬁ?‘f ﬁfq BRS
2. active volcano in (i) Pitli island 2. 9Rd ﬁ -{:ﬁ%b_q (11) W gﬂ'q
India eI e]
3. Island which is (i) Majuli 3. FW SRl A (iii) A
uninhabited F a|g Tl
4. A river island (iv) Chilka %
situated in river 4. SRIYA SCI @iv) Erel
Brahmaputra ﬁ%]?f ;Iﬁ'q é)fq
(1) 1-iv, 21, 3, 411 (1) 14v, 211, 31, 4111
(2) 1-iv, 241, 3-ii, 411 (2) 14v, 2, 3-ii, 411
(8) 1-iii, 21, 3-iv, 41 (3) 1-iii, 21, 3-iv, 4-1
(4) 1-i, 21, 3-iii, 4-iv (4) 1-i, 2, 3-1iii, 4-iv
162. Himalayas have been divided on the 162. feaeg & U= 4 W@ d% Read &l &
basis of regions from west to east. amaR WX fawiva e @ B e
Which is known as : ST S B
1. The part of (1) Kumaon 1. Hﬁ@‘_l‘f Q_C[ @) E\Bfﬂ@ %‘-TIFI?T
Himalayas Himalayas ﬁ:[g ® 99
lying between ﬁ?ﬁ %HWPI
Indus and % AT Eb;f
Sutluj 2. Hagel  dU0 (i) Yo femer
2. The part of (1) Punjab EHFﬁ Hﬁzﬁ E%
Himalayas Himalayas 3?[%[ ﬁﬂﬁ
lying between ERISRI ®
Sutluj and qRT I
Kali 3. foem  dun (i) qU RHRE
3. The part lying (iii) Nepal fegim At
between Tista Himalayas & 4 & 90
and Dihang Eﬁ
4. FE qA (iv) 99 RBARHE
4. The part lying (iv) Assam ﬁRﬂT Hﬁ_&-ﬂ'
between Kali Himalayas & 9" B 9T
and Tista _%'Bf
(1) 14, 2-11, 3-iii, 4-iv (1) 14, 21, 3-1iii, 4-iv
(2) 1-iv, 211, 341, 4-1 (2) 14v, 2-111, 341, 4-1
3) 1-ii, 21, 3-iv, 4-iii (3) 14, 2, 3-iv, 4-iii
(4) 1-11, 211, 3, 4-iv (4) 111, 211, 31, 4-iv

NTSE(Level-1) Exam. Nov. — 2017
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163.

164.

Match list 1 (River) and list 2 (Dam)
and select the correct answer using
the code given below :

List 1 List 2
(River) (Dam)
1. Mahanadi (1) Nagarjun
2. Krishna (i1) Mettur
3. Sutlyj (111) Hirakud
4. Kaveri (iv) Bhakhra
Nangal
1) 14, 241, 3-iv, 4-ii1

(&)
3
)
Match the following animals with

11, 2-ii1, 3-iv, 4-1
1-iv, 21, 31, 4111

1111, 21, 3-1v, 4-1i

their category of existence and select
the correct answer using the code
given below :

Animals Category of

existence

1. Black Buck (1) Extinct

2. Asiatic (i1) Endangered
Elephant
3. Andman (111) Vulnerable
wild pig
4. Pink Head (@iv) Endemic
Duck
(1) 141, 2-11, 3-v, 41

@)
3
4

1+, 2-ii, 3-iii, 4-iv
1-iv, 2-iii, 3-i, 4-1

1111, 211, 3-1, 4-1v
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163.

164.

A

e 1 (7 B i 2 (@) &
ferzd qor U U HIE & YA B
g0 @87 I A T HIT

qfereRt 1 GIKE I
(GEL)) (ie)
1. Yerel () IS
2. FI (i) W
3. e (iii) ENTHS
4. PEY (iv) eI AT
(1) 1-i, 2-ii, 3-iv, 4-iii
(2) 1-ii, 2-iii, 8—iv, 4-i
(3) 1-iv, 2-ii, 8, 4-iii
(4) 1-iii, 2, 8-iv, 4-ii

frfafa STHad & o oiRad & v
d A HY qU1 U T HS H TAT HA
g0 @87 I A T HIT

CIRCE i &
1. e &I G) g«
2. URMEE eE (i) HEe T
3. HeHM Sl (i) gHE (IUT H)
L EIR
4. Tl REEed (v) @@
ENfe]

1)
2)
3
4)

11, 211, 3-1v, 41
1+, 21, 311, 4-1v
1-iv, 2-iii, 3-ii, 41
1-1i1, 21, 3-1, 4-1v

P.T.O.
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165.

166.

167.

168.

Which of the following book is written
by Kautilya ?

(1) Politics

(2) Civil Government
(3) Arthashastra

(4) The Prince

Which of the following state does not
have coalition government ?

(1) Bihar

(2) Jammu-Kashmir
3) Goa

(4) Orissa

Which of the following nation has
parliamentary government but is not

republic ?
(1) India 2) UK.
(3) China (4) Nepal

which of the
following group do not match in their

Personalities  of

positions ?

(1) Pt. Jawaharlal Nehru, V. P.
Singh and Dr. S. Radhakrishnan

(2) Dr. Rajendra Prasad, Dr. V. V.
Giri and Dr. Fakhruddin Ali
Ahmed

(3) Lal Bahadur Shastri, Narsimha

Rao and Manmohan Singh

(4) Lala Lajpat Rai, Bal Gangadhar

Tilak and Bipin Chandra Pal
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165.

166.

167.

168.

Fed § 9§ 4 - 75
fort ?

(1) Yffstieesrd

(2) foafoe m@de

(3) T

(4) @ ©F

Fret & @ e oo § Mefi-oell SRR

TETE ?

(1) f¥er

(2) TH-FHHR

(3) ar

(4) I

1§ @ f5g U § dOdg @R R

W] T 787§ 7

(1) 9 2) fores

(3) 4 (4) U

=1 wgEl | | oifed et fohe @ge

AUl TEAM & SMYR WX S9H ¥ A

787 W@ ?

(1) dfeq A "es, 4. 4. /e g
1. TE. TIHEH

(2) 1. W= U9E, . d. 4. F g
T FEGEN Al TEHR

(3) WA FRIgT A, TR TG q
T [4E

(4) AT AOUG TF, a9 TR fdw g
fofte == U
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169.

170.

171.

172.

Which article of Indian constitution
abolishes untouchablity ?

(1) Art. 19 (2) Art. 17
(3) Art. 21 (4) Art. 23

Which of the following statements are
correct ?

i. India is secular.
1. India has direct democracy.

has

proportional representation.

1i. India adopted the

iv. India is founder member of U.N.

@
@)
3

(4) i, i, iii

1, 1v, 1il
1, 1v

1, 1, Iv

Which article is related with uniform

civil code ?

(1) Art. 44

(2) Art. 45

(3) Art. 14

(4) Art. 370

Choose the odd group from the
following :

(1) Lal, Bal, Pal

(2) Weather, Climate, Environment
(3) Heart, Kidney, Dengue

(4) BJP, Congress, RJD
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169.

170.

171.

172.

A

HGYM & HA-A1 AT GAGT HI 5T
FA & 7

(1) oe8% 19 (2) ATWT 17

(3) ATW|E 21 (4) ATJT 23

frfafad & 4 P9-9 99 g & 7

i ARG ew e 2

i, ARG § TE oo 2 |

i, WA # gicii=iere gomelt
AT TR |

lv. 9T §FF T & HUH 96
z

(1)
(2)
3)
4)
Frer & & $9-a1 og®T 999 AR
dfear 9 gfeg 2 7

(1) =T 44

(2) e 45

(3) ATHT 14

(4) H|T 370

e & 4 @ Ay (onE) @
v -

(1) o1, o, 9ret

1, iv, 11l
1, 1v
i, i1, iv

1, 1, 111

(2) HEH, Sedry, aTdmEReT

(3) &4, T, 3
(4) .91, HIG, AR.I.E.

P.T.O.
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A

173.

174.

I had booked a ticket in Rajdhani
The

delayed for long hours without any

Superfast train. train was

reason. In this situation :

(1) I can not approach consumer
court as train delays can happen

sometime.

(2) I can file a complaint in railway
office as claim refund of ticket

amount.

3

I can approach consumer court
for deficiency in service and
claim refund of superfast charges

as damage.

(4) I can cancel my ticket without
paying cancellation charges to

railways.

Assume that national income of a
country is Rs. 5,00,000 crore in any
accounting year and they have
received foreign aid of Rs. 1,000 crore
in the year. In this situation,

national income of that country

would :

(1) Increase by Rs. 1,000 crore
(2) Decrease by Rs. 1,000 crore
(3) Remain same

(4) Increase by half of the foreign aid
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173.

174.

T Y GIEE WEl § 0 ke
g% FAr o | WSl A [ R
%3 g9 4 9 11 29 Rafq 7

(1) ¥ SUNFT SR § e o gehar
T FE AR @AM I G ST 2 |

2 ¥ o fehe & o auEl & fom
T FEE HOREEd o #
T E |

@) ¥ Far § W F U IR
AT A TEA g AR JHAE &
aTqEl 1 & HY qehell 8 |

@ § W@ B @ FE T IE R
for femhe YEg var g ¢ |

O W U I B fpEl a@r a o
TG 9 o 5,00,000 FAg & &K
S8 SH a¥ 1,000 FAT HYC FH fa=sh
TEFTl O Bl & O S9 39 B TN
AF B

(1) Ho 1,000 FUS IE ST
(2) o 1,000 FUS T AT
(3) BT uRade &t &rm

(4) focsl Temar @ RT & o 9%
ST
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175.

176.

177.

After implementation of GST in the
country, a shopkeeper has given a
work of their book-keeping/accounts,
to my cousin. Such kind of activities
can be included in :

(1) Primary Sector
(2) Secondary Sector
(8) Tertiary Sector
(4) GST Sector

Match term of column 1 with

column 2 :
Column 1 Column 2
(a) Land (1) Engineer
(b) Labour (i) Mines
(c) Capital (i11) Machines
(d) Money (iv) Purchasing
Power
1) a-i,b-1i,c-iii, d-iv
(2 a-ii,b-1,c-iii, d-iv
3) a-iv,b-ii,c-1,d-1ii
(4 a-iii,b-iv,c-1,d-1ii
Why despite less calories

requirement urban areas have a
higher poverty line ?

(1) because of higher prices of many
essential commodities in urban

areas
@)
3)

urban people eat more in hotels

causes of poverty are different in
urban areas

(4) urban people incur more medical
expenses
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175.

176.

177.

A

e ¥ g%y Ud @1 H (GST) A BN
% 96 Uh GHMER J AT GHH A
e FE AR WS # S AT 39 SR
I Ty I Qe e ST

(1) meare & o

() Tadas &= |

(3) Farw & |

(4) T8 Ud Far HT & H

:;IET[ 1 & W& A R 2 8 e

FiAq 1 HIAH 2
(a) 9 (i) AT
(b) =M (i) &~
(c) sl (iii) #el+
(d) o7 R IERIEIES]
(1) a-i,b-1ii,c-iii, d - iv
(2) a-ii, b-i,c-iii, d - iv
(3) a-iv,b-ii, c-i,d-ii
(4) a-iii,b-iv,c-1i,d-ii

el 8 § FY Fard Bl STAETERA B
qEE A T Y #@ S e ?

(1) &0 &8 § HE AaEE aegel
BT Al BN & BRI
(2) STEdl 7T el § el @ 2

(3) &0 AT H TS & ST BRI B
g

(4) =0 T fafeer W oS @l wRd
g

P.T.O.
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A

178.

179.

180.

If a farmer works at his field of 5 acre
and produces total 150 quintals of
wheat in a year. His son grown up
and joined the farming with his
father . Which of the following shows
the disguised unemployment, if :

(1) production of wheat increase by
50 quintals

of wheat remain

@)

production
constant
(3) production of wheat increase by
20 quintals

4)

production of wheat increase by
100 quintal

Which one of the following statement
1s incorrect regarding commercial
banking ?

(1) It deals with money. It accepts
deposits and advance loans.

It deals with credit and has

power to create credit.

@)

(3) It deals with the general public.
4 It s

Institutions whose aim is to earn

not a Commercial

profit.

Human Development Index compares
countries based on which of the
following levels of the people ?

(1) Education level

(11) Pollution level

(i11) Health Status

(iv) Buildings

(v) Per capita income

(1) @), (), (1)

2) @, (i), (v)

(3) (), @v), (v)

4) @, @), v)
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178.

179.

180.

(1) T & T 50 fried 9 o @
(2) T P IAEA Ted B & e @

(3) T & IAET 20 fRed 9 S @

(4) A PN IOEA 100 fRed q@ oA

airy d6 & g § fefafeg & @
HN-91 FIT G&T 7&T 8 ?

(1) T8 99 T q9-39 B 2| T8
ST WiE B & SR FOT I B

(2) TE O B 1Y ARl R 9rg S\
P fe @ 2 |

(3) I8 M 9 % 19 A9-37 Hd 2|

(4) e AT T Tl & [T I5aed
A FHAFT 2 |

ue o gEsieh 9 29l ® I
At & Frefaied w0 @ Re-faed
R T JA B & 7

(i) forem &

(i) J3IT &

(iii) @A &

(iv) Has

(v) 9 e e

(1) @), (i), (i)

@) @), @ii), (v)

3 (i), (iv), (v)

@) @), (i), (v)
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181.

182.

183.

184.

A number when divided by 5, 3 and 2
and 1
respectively. Out of all three digit

leaves remainders 4, 2

numbers, find the total such numbers :
(1) 28
(2) 29
(3) 30
(4) 31

If cosec © — cot 6 = p, then the value

pz—l.

of 1S :

p2 +1
(1) cos©
(2) —cos O
(3) sinH
(4) —sinH
If the sum of the first m terms of an
A.P. is n and sum of its first n terms

is m, then the sum of its first (m + n)
terms is :

(1) —(m+n)
2) m+n
B) —m+n
4 m-n

If quadratic equation x*+ px + £ = 0
has equal roots and —4 is a root of the
quadratic equation x* + px — 4 = 0,
then the value of & 1s :

3 -3
@) 5 ) >
-9 9
3 e 4 1
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181.

182.

183.

184.

A

frdl = @ 5, 3 AN 2 F 9 3 W
AT FHA: 4, 2 X 1 oMQ B A A
(1) 28
(2) 29
(3) 30
4) 31

p® -1

p2+1

23|'i%cosece—cot6=p%,Fﬁ &l

9N 2

(1) cos©
(2
3
4)
e fd AP. & 999 m 95 & AN n
g JuT 395 W9 n TG H AN m g, o
IS TUH (m +n) TF & A E

—cos 6
sin 0

—sin 6

(1) —(m+n)
2) m+n
B) —m+n
4) m-n

e fgaa Tl 22 + px + k = 0
% g9 SUER ¢ ad fEE s o +
px — 4 =0 % TF I —4 8, A k &
99 2

3 -3
1) 5 @) >
-9 9
B3 — 4 1

P.T.O.
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A

185.

186.

187.

A peacock sitting on the top of a tree
observes a serpent on the ground
making an angle of depression 30°. If
the peacock with a speed of 300 m per
minute catches the serpent in 12
seconds, then the height of the tree is :

(1) 30 m
(2) 30/3m
0,
V3

(4) 15m

3

a, b and c are the sides of a right
angled triangle and a circle of radius
r touches the sides of the triangle. If ¢
is the hypotenuse of the triangle,
then the value of ris :

a+b+c

@ 3

a+b-c
3

a+b+c
2

@)

3

a+b-c

4 5

of the
polynomial ax®*+ 15x + 6 is reciprocal
of the other, then the zeros of the
polynomial are :

If one zero quadratic

1
1) 2and —
(1) 2an 5
-1
2) —2and —
(2 an 2
1
3) 3and —
(3) 3an 3

-1
4) -3 and —
4) an 3
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185.

186.

187.

el T3 & fd W Jo1 & AR g W
Th FT B 30° H FATET BT T
g0 3T 21 AR g8 AR 300 Ho u
e @l = | 39 @9 & 12 S |
TS A T, A U H HAR R

30 Hio
304/3 Hio
30

N q

15 Hio

a, b AR ¢ Frdl qEEeT B @ e
g T B - W U% g9 3 FYS A
TS PN Tl FIA B AR ¢ 39 g M
Fo 2, @ r F A B

1)
2)

3

4)

a+b+c

1) 3

a+b-c
3

a+b+c
2

2)

3

a+b-c
2

A fhEl fEEd g9E ax® + 15x + 6 &

U % AL B HohH ©, Al 39 F8U
% g E

4

1
ﬂ)2ﬁ{§

-1
@ 28R —

1
3) 33§I1§

-1
(4) -3 <
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188.

189.

190.

191.

The mean of certain number of
observations is 46. If four observation
whose mean 1s 52 are removed, the
mean becomes 44.5. The original
number of observation is :

(1) 35 2) 20
(3) 15 4) 12

The area of a triangle with vertices

(0, 2-2p), (1-p, 2p) and (—4-p, 6-2p)
is 70 sq. units. Then, the numbers of
possible integral values of p is :

1) 0 @ 1
(3) 2 4) 3

In a triangle ABC, points D and E are
on sides AB and AC respectively such
that BCED is trapezium. If AE : EC =
3 : 2, then the ratio of area of AADE
and trapezium BCED is :

(1) 9:16
2 9:4

(3) 9:25
(4) 16:25

The wvalue of A satisfying of the
relation y = Ax + 5, where x and y are
the solution of pair of equations
x+2y=10 and 3x + 4y = 360 1s :

1
@ 7
-1
@7
1
@ 3

-1
@ -
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188.

189.

190.

191.

A

S Ul H AH 46 © | A AR Jaol
foFepr mreg 52 B, @ wer famm o, @
e 44.5 T A 21 TN @ URRE
e 7

(1) 35
(3) 15

2) 20
4) 12
I (v, 2-2p), (1-p, 2p) AR (~4—p, 6-2p)

q ©F BIS H AEEA 70 9 IR ¢
q@, p & e QUi A= B He
g

1) 0 @ 1
3) 2 4) 3

el Bgs ABC ¥, &g D @R E
FAT: oA AB AR AC W 39 FFR
Req € % BCED U% #wad &l Ik
AE:EC=3:2 &, o AADE 3R #5aid
BCED & &=l &1 I ¢

(1) 9:16
2 9:4

(3) 9:25
(4) 16:25

ﬁﬁﬂy:kx+53€fﬁ'g'§fab_{%fﬁrﬁk$[
O, Sl x A y T x + 2y = 10
AR 3x + 4y = 360 & TH & = ¢,
frfafeT ® -

1
1) 1

-1

4

1
3 5

-1

2

2)

4

P.T.O.
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192.

193.

194.

195.

Three spheres of radii 6 cm, x cm and
y cm are melted to form a single
sphere of radius 12 cm. If xy is equal

to 80, then the value of x + y is :
(1) 21 (2) 18
(3) 24 (4) 42

If cosb + sinb = p and secO + cosecO =V,
then the value of Vis :

p
) 2p-1

@ 2

3

4

2p

Angles A, B, C and D of a cyclic
quadrilateral ABCD are in the ratio
3:3:2:2respectively. If AB =5 cm,
BC = 3.5 cm and CD = 8 c¢m, then the
length of AD is :

(1) 5cm (2) 3.5cm

(3) 8cm (4) 4cm

The median of certain observations
17, 18, 23, 27, x — 3, x + 5, 45, 49, 74
and 85, arranged in an ascending
order is 35. Later on, it was found
that one observation 72 was misread
as 27 by mistake. The correct median

of the data is :
(1) 36 (2 38

(3) 42 (4) 47
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192.

193.

194.

195.

Broomel 6 AW, x A AR y AW F O
Tl ®l fUEae Bor 12 991 T T
ST T S ST B AR xy H AW
80 F ST §, W x+y H IV 2 :

(1) 21 2 18
(3) 24

i cos® + sin® = p g X secH +
cosecG=V%, @V H AR

(4) 42

p
1 5p 1

@ 2

(3

4)

2p

fodl =i =gyt ABCD & &1l A, B,
C 3R D & AU FAT: 3 : 3: 2 : 2
219/ AB =5 cm, BC=35cm &R
CD=80m%,&_‘-|TADEI%FiEI1§%:

(1) 58 (2) 3.53M
(3) 89Hr (4) 499

B Ul 17, 18, 23, 27, x — 3, x + 5,
45, 49, 74 3T 85 S W& HT H
Faied &, & HegE 35 &1 9% H,
3o [ U JE©T 72 & TN 9 27 96
Mm@ o1 B oSl & G Wegw
2

(1) 36 (2) 38

(3) 42 (4) 47
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196.

197.

198.

199.

The sides of triangle are 61 cm, 54 cm
and 35 cm respectively. The length of
its longest altitude is :

(1) 1045 cm
(2) 1645 cm
(3) 24+/5 cm
(4) 285 cm
A bag contains two coins. One of
them is a regular coin whereas the
other has tails on both sides. From
this bag, a coin is picked at random

and tossed. Then, the probability of
getting a head is :

1 o 2)

o e

1
3 5 4

a and b are roots of a quadratic
equation x* + 5x + d = 0, while @ and ¢
are the roots of the quadratic
equation x> + 6x + 2d = 0. If there is
only one common root in the two
equations, then value of d is :

(1) -2
2) —4
3) 2
4 4
The mean, mode and the median of

the observation 7,7,5,7 and x are the
same. Then the observation x is :

(1) 10
@ 9
(3) 8
4) 7

NTSE(Level-1) Exam. Nov. — 2017

(61)

196.

197.

198.

199.

A

el B @ 9ome w61 &,
54 AHT X 35 TW 2| D HEQ @9
e & @9 ® -

(1) 1045 a9

(2) 1645 T

(3) 2445 T

(4) 285 T

I F @ e Bl oA Ow
Fraf faee 2, @ gk e ™
M o ‘g’ B139 A4 H 9w Ry
Aefee® w9 § ME@ FT e A 2 |
79 e W g o i wideean ® ¢

1
M 0 @ <

1 3
@ 3 @ 7

a AR b UF ZEE THHET 22+ 5+ d =0
%ﬁ%,@ﬁ%aaﬁ?cﬁﬂﬁw
X+ 6x+2d=0%qq 51 A A
FUET H Fad T & WA gA ©
T dHAAE

1) -2
(2) 4
3 2
(4) 4

Qe 7,7,5,7 AR x & A, IgAF AN
e UF & & | ad, HET x ©

(1) 10
2) 9
(3) 8
4) 7

P.T.O.
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A (62)

200. ABC is a right angled triangle, right 200. ABC U% THHT BIYS 2, f&@ #°1 B
angled at B. If D and E are points on a2 3 o AB W fdg D R
s1deABsuchthatAZD=l;E=EB, E 26 TR Rud & f5 AD = DE = EB
then the value of %is : 5 AC? - EC*? S

b -BC ' DC?-BC?
3
1 — 3
1) 2
1 1) 1
5
@ - 5
9 2
2 2) 5
9
3 - 9
3) 2
4 3 1
2
4) — 2
@3 @ 7
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7.

10.

11

12.

13.

14.

15.

16.

17.
18.

19.

20.

Ul @ SR, SR USd H fiRd @M b drer/
dfc @ige U9 W QUidar $ell dRAT ®, il RG]
fegmar mar § -

£

WM BT 9 TR ¥ W) ®

© ® © @
I T W SITST WHI DI MR < & T AMUDT AR Terd
AT ST |

. X% B e gRAaEr W 59 wAie & forg &1 g el

ST TR B BN |

. 9l SR B OMR STR TP WR & 3ifbd B |

IR IHGES 3ifhd P | IR I8 B WA WD
(e degs) b1 T g B

e yE p for Ry v IR fAweat § 9 Sfua
s & forg OMR SR W& W ddd b g
P A W We A/ H dd WEe W A W
T$ IR SR 3ifhd &I & 915 S dgal H8l off
FhT B

. et ghRea X & 39 SR wFd @1 Arel 9 1Y

TG SS9 W B A e T oa e sraeff e
IgFHHIG IR TG H uiRd W & «ifaRed o/ 7
ford |

e gRABT Td IR UFE BT S TANT TN, ifd
fdl ot aRRefT ¥ (Baet aem gRA®T vd IR U596 &
HHis # T @ Refd &1 sreax) gwdl g¥ler gRasr
e Syerer 7& Hvarg Svit

T gRAa®T /IR UAF H Y T HHie DI g wE
W F TR 77 ¥ fod |

it BI WRIET B/ Pe § UAY Bl @ Ryara ey
UPR B IR, gied a1 sfalRad s &1 afir,
TSR, A3 BIF, Soideli—e UG AT fHd 3 ThR
B WA BT S AT ST B DY SIART T 2

TS FRT Y8 O W UG gl U ydwr wre
RreT o) ey |

Fw JefleTd AT whded B fRIY SrgAfa & faAT @IS
et U I T BIS |

Soldel e / BN UREbeId BT SUART Ifid ¢ |

e grad H ue gRA®T 3R STR UFd I B AN
AT T BN |

T T B W, IR @et /BT Bl ¥ Jd SR

TP HeT—UdeTs Bl 3aey AT < | angeft e |1 39
e gRABT BT o T Fhd |

FfF 39 UH-UF & dF R & forg ReiRa g dAifg
2, 9ol SHET AIFHaH FUANT BIY R & e
R 980 I T IR |

7.

10.

11.

12.

13.

14.

15.

16.

17.
18.

19.

20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as
given below :

v ® © ©

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.
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